Test 1

PAPER 3 USE OF ENGLISH (1 hour 30 minutes)

Part 1

For questions 1-15, read the text below and think of the word which best fits each space. Use only
one word in each space. There is an example at the beginning (0).

Write your answers in CAPITAL LETTERS on the separate answer sheet.

example: 0] [8][E][cloJimI[E] LI ILIL LI L]

Getting Away From The Land

By the start of the twenty-first century, Britain had (0)...2E&PME... a highly urbanised country, with
only a small proportion of the population in touch o | . 1 — the working life of the countryside.
But this has by (2)...cccevuuee means always been the case. At the end of the nineteenth century, in
excess (3)...... v a million people were employed in agriculture, five () LT — today’s figure.

5751 ) [E—— , however, the total was significantly below that in most European countries, high
factory wages having already tempted people to leave the countryside in favour of the industrial

cities. In(6).issinvisnss to this, the English custom of primogeniture, by (7)............ land is inherited
only by the eldest son, served (8)............ further accelerate the rural exodus.

During the war years of the 1940s, at a time (9)............ food was short, people seized whatever
opportunities (10)............ were to improve their diet (11)............ growing their own vegetables.
However, this practice soon lost (12)............ appeal once the war was over, as (13)............ other
temporary expediencies, such as keeping chickens in town gardens. (14)............ is more, mixed
arable and livestock farming, once the norm, became rare, so that even (15)............ people than

ever were involved in agriculture.
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